CHECKING SUBTRACTION

Subtract, then add to check your answer.

14-9=_O and O +9=14

Now complete the fact family with the numbers used above.

14 - 5 = 9 and 9 + 5 = 14
13-9= --4--- and ---4--+9=13
13 (-4 |=|9 | ad |9 |+| 4 |=]|13
12-5= --%7--- and ---7--- +5=12
12 |- 7 |=|5 | ad |5 |+ 7 |=|12
16-7= --9--- and ---9--+7=16
16(-| 9 (=7 | ad | 7 |+l 9|=]|16
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11-3= - -8 --
11 |-| 8 |=]| 3
14-8= - -6 --
14 -| 6 |=| 8
18-8 --316--

and

and

and

and

and

and

and

and

---19-- +8=

18

8 |t] 10 |=

18

- -9--- +4=13

13
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19-1= --486-- and --486--+1=19

19 |- |18 |=| 1 | and 1 [+]18|=]19
10-4= --6--- and ---6--- +4=10
10|-| 6 |=| 4 | and 4 |+| 6 |=|10
13-9= - -4--- and ---4-- +9=13
13- 4 |=| 9| ad | 9 |+|4 |=|13
15-3= --492-- and ---2-- +3=15

15 |- |12 |=| 3 | and 3 |+|12|=|15
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